Notes WS 5.11 B -Solving Linear Quadratic Systems using the Quadratic Formula
Remember how to simplify radicals?
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bring out one of the factors. Multiply whatever is outside the sign, then multiply whatever is inside the sign.

Remember that for each pair, you “bring out” only one of the numbers.

ﬁ-2m2hnﬁmmedtwiee(2x2=4). /9 =3 because 3 is a factor used twice (3 x3 = 9)
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Simplify completely:
) B ) 3. J50 4. J80
33 HVZ SVZ 4V
6. 120 7.:l68 8. V200 9. V180
ey a7 /oVE évs

|

J720
T80

VLY

5.412
e




